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“a and b are non-zero constants.




Trigonometric and hyperbolic integrals

/sinx dx=—cosx (2.375) /sinhx dx=coshx (2.376)
/cosx dx=sinx (2.377) /coshx dx=sinhx (2.378)
/tanx dx=—In|cosx| (2.379) /tanhx dx=In(coshx) (2.380)
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/secx dx=In|secx+tanx] (2.383) /sechx dx =2arctan(e") (2.384)
/cotx dx=In|sinx| (2.385) /cothxdx=ln|sinhx\ (2.386)
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Named integrals
Error function erf(x)= %/ exp(—t) dt (2.390)
n 0
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Exponential integral Ei(x)= / e?dt (x>0) (2.394)
Gamma function I'(x) =/ V le7tdr (x>0) (2.395)
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Elliptic integrals (4:K) /0 (1—k2sin0)1/2 (first kind) ( )
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E(¢,k)= / (1—k?sin’0)"/>d# (second kind) (2.397)
0

“See also page 167.




Definite integrals
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